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SN
X XH .
S Tt

el

A=A
SO AHIA B
ANHIA B

i
40
o
{0

CEHRI(E) - HRAY - B S Ao e 2t

01 MY =SZH 5,000 0 5,000
og=ol oA Xl 5,000,000& = 14 5,000

EXN A= 22 829,132 620,625 208,507
= 9,800
= 39,500
= 779,832

X & 2tel 301,602 198,623 102,979
= 39,500
= 262,102

NESF2te| 40,945 57,435 216,490

201 LetHH| 33,745 33,235 510

01 AtER22/hl 14,332 13,822 510
Oget=gH| 14,332
—SAEX (M) 7L 19,000& * 15 3,420
—SAMEX(A3) 2L 19,000& = 1,140
—SAIEX (B4) 7 27,0002 = 972
—XNEE=SHMBE(R 8,800
Zc|HAEE E#3002 2,000& » 2& » 2,0000H 8,000
Y3 HAEFM 2 35 50,000& * 45 « 43| 800

02 22234l 19,413 19,413 0
O33e= 6,250
—EX0ls SIE SNM E2 250& = 50,0000H = 0.5 6,250
OAl & EHIs Xl 13,163
— S AU EES/T &AM RAUES 300,000 * 1CH 300
—NEADE2ESI| RAE= 13,000,000& * 2CH 2,080
—ANESEHAAE SAES 800,000& * 10H » 12& 9,600
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S DA
M g AS 22

¢l XA 2tel (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
— 00122 EEE=)| RNE=> 14,784,000& = 1CH = 0.08 1,183
202 (4Hl 7,200 7,200 0
01 =LA bl 7,200 7,200 0
OXNEZE A HRFH 120,000& * 3% = 12& 4,320
OEXOlIES SXEAL SREFH 120,000& * 2H = 12& 2,880
HLUASHEH HH| 114,657 41,188 73,469
201 LBt 3| 28,437 25,568 2,869
01 AtR 22l 24,609 21,740 2,869
Oggt=gH| 24,609
—KNEESHHMEEZE (HPI00EZEEE) 2L (58) 14,700
2Het 2l 3(350ml) 200,000& * 15 * 3M « 12& 7,200
S U4 (350m!) 200,000& * 2& * 12& 4,800
- AoZ Xl 17,000& * 58 * 12&8 1,020
A2E Xl 15,000& * 58 ~ 123 900
- A3E X 13,0003 58 » 123 780
—ZHESLX S 183,500& * 54& 9,909
02 Z&=234l 3,828 3,828 0
OAEEHI =X 3,828
—Z2IL=3D| 10,050,000& = 1CH = 0.08 804
—XNE=ZHAMEH(ESAHOIA) 24,000,000& = 1CH = 0.08 1,920
—ANHEHAH AU (RE) 13,795,000& = 1CH = 0.08 1,104
202 O4Hl 4,320 4,320
01 =LA bl 4,320 4,320
OXNHEIAHE FHl Z2F 4,320




S DA
M g AS 22

¢l XA 2tel (el &)
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 G BB
203 ¥R =4&d| 800 800 0
03 AIMZ=XHRZ=EH| 800 800 0
OXNHAIM AL 100,000& = 82l 800
401 Al&HIZL=ROHYI 10,000 10,000 0
01 AlZHI 10,000 10,000 0
OXN&E= J|I&d 4X 100,000& = 100& 10,000
405 KHAHFESHI 71,100 500 70,600
01 MHARESF=H 71,100 500 70,600
OXNAIIEE ESUE vt 10,000& * 503 500
OsgZ: 22 dteld 30,000& * 20 600
OGPS =& &Hl #¢ 35,000,000& =+ 2CH 70,000
HEAN HASALS 67,000 100,000 A 33,000
207 A 1OH2H| 67,000 100,000 233,000
01 251E3HI 67,000 100,000 A 33,000
OXNEZSE SAIAEY ASAY 67,000,000& 67,000
FSUSEXINYE SAEAN SLSHALY 79,000 0 79,000
3 39,500
= 39,500
207 A0 79,000 0 79,000
3 39,500
= 39,500
02 & &HHEH 79,000 0 79,000
ORSMEEXXY FREAM SHAF (11,8570H) 79,000,000& 79,000
< 39,500
i 39,500




S QIR ALDL
Bu: €N AR e

el NelEEAE (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

XelZE23ArY 274,965 259,465 15,500
= 9,800
7 2 265, 165

EXNSSHEEY 2 49,720 44,720 5,000

201 LBt 3| 5,400 5,400 0

01 AtS 22l 1,200 1,200 0
Oget=gH| 1,200
—EXNSEEEY 28 22F Y 100,000& = 123 1,200

02 =234l 4,200 4,200 0
OAEZ IS X 4,200
—LMISAI Bl = XI2 el 4,200,000 4,200

202 O4Hl 4,320 4,320 0

01 =Wl 4,320 4,320 0
OEXNSEEL HARFX 120,0008 = 3FH = 12& 4,320

207 HFIHEHI 20,000 20,000 0

01 22E 43l 20,000 20,000 0
OEXNZSHEEL HHI=9d 20,000, 000& 20,000

405 KHAHFESHI 20,000 15,000 5,000

01 T =SS HSHI 20,000 15,000 5,000
OHNEH DIASHAIAEH 2= 20,000
—YEILCD(42" Do E) ¥ BFH 7 10,000,000& * 2)H=H™ 20,000

C2Y8 L ASHSEEAY 225,245 214,745 10,500
= 9,800
i 215,445




A
D EX AS 22

el

X ZH
o=

2l S At

[w U iy <S)

KelEEsAL

S HE B - KRAY - BAS 0f &b 2 e 52

201 et 80,925 94,925

01 At 2t2ibl 28,925 32,425
Oget=gH| 26,125
—M=2 &#Hl 22H EXF 50,000& = 302 1,500
—M=24 EHl 228 4348 200,000& = 45 * 23l 1,600
—M=4A B2 SHIHE M 50,0003 * 2001 A 1,000
—MFax BE 2SR HMH 200& = 10,0005 2,000
—M=4 DX - DAl U2 89 & 350& = 27,5000H 9,625
—M=F=2a 2 B JE 120,000 * 2004 A& 2,400
—M=2A B2 IEAEAH HE 300& * 10,0005 3,000
—M=4 B2 /183 H& 2,000& = 2,5000H 5,000
Oo=2g=¢ 2,800
—E2HARYS 2E=+H 70,0008 = 102 = 43 2,800

02 2322l 52,000 62,500
O332= % HA 7,000
—MZ=A OX - DA RE2Y 7,000,000& 7,000
OAlIZ EHIRXId 45,000
—E23E Y ASBSE RAZ4H] 45,000,000& 45,000

202 O 4,320 4,320

01 2SI 4,320 4,320
OM=4 X - DAl SR 120,000& = 3" » 12& 4,320

405 KH&HFH SHI 140,000 65,500
= 9,800
= 130,200

01 MR ESF=H 140,000 65,500

M
0
F]
o




S 0IA=Z ALY
D EX AS 22
K2l B ES ALY

o

0
F
10

0x
o

>
12

2 (A
R
J2H

==

Ol

OZUE2 L NMFACZ2HET 400,0008 * 15004 A 60,000
= 5,000
z 55,000
OMZFA XIotlE &X 5,000,000 = 16H 80,000
= 4,800
2 75,200
e 154,545 116,717 37,828
SEZAIXIDOF 2l 114,545 109,717 4,828
101 Q1244 3,094 2,898 196
04 JIZtHM22ASES 3,094 2,898 196
OMLEZSAIRIEA HREX 3,094
-Jl=23 33,0002 * 1% » 75 2,475
—524z224y 33,0008 * 1% » 10 330
—4HEE R 2,805,000 = 0.103 289
201 ety 105,691 97,559 8,132
01 AFR22/Hl 86,906 78,774 8,132
OFI-IE=%a]] 84,666
—Xotg e 52X P 2,200 * 1,600% 3,520
—HEZAIXIDF 28 2 128 = 276,0002 X 3,312
—Z2H XII=HZEA(Ao) 210,0008 * 5& * 23 2,100
—DZTRIE)| ARE ¢ 180,0008! * 3§ = 23] 1,080
—XJt dEx42 55,680
MFXL BEL22 6532 * 120,000 X = 0.5 39,180
AREX BES42 86,6002 * 3,000Z Xl * 0.5 9,900
-0IQ MY HBEL22 22,0002 * 300 Xl 6,600
—XotEE MA(EX) 2 8,374




S QIR ALDL
BH: €N AS e

el EXl2el (el &)
SA - EE - SRI(EA) - NRAY - BES 0l &t e B D52
SMUHEEXR 123 = 276,000 Xl = 1.1 » 0.5 1,822
SEXME 2 BEXIA 108 = 276,000 Xl 2,760
EEEY 128 = 276,000 Xl * 0.5 1,656
ot 263 12,0000 » 3% 936
el X A=l 28 888 IAL =8 £ 1,200
—XIIZE SN2 2 60,0003 * 508t A 3,000
—XIJIEAE SHEX(EX) 7 1,000& = 1,20004 * 32 3,600
—8 0 (XDt E2LOA 0IaEE ) 50,0008 » 1452 » 43l 2,800
—SHHEE XotEs &y 1,000& * 1,2000H 1,200
Oo=2g=¢ 2,240
—RSdEIIRIES =& 70,0003 = 8H = 43 2,240
02 3224l 18,785 18,785 0
Os32= & HAl 18,785
—IHESAIXIL 28 SN &5 2203 * 53,0000H 11,660
FSAST] HEHE S=2 1,750& * 50004 875
—EXN0ls SIESNM S 2503 = 25,0000H 6,250
202 O4Hl 5,760 5,760 0
01 =LHAOYI 5,760 5,760 0
OMHESAIXIL HR2FA 120,000& = 4% » 128 5,760
SESo Hdapt 40,000 7,000 33,000
207 A 1OH2H| 40,000 5,000 35,000
01 21E3HI 40,000 5,000 35,000
OHERYE=S HI=&o 9| 40,000,000 40,000
AFae] 98,020 45,820 52,200
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fA Y t ot
B = p2
el A= chel &
SN - HE - SI(E) - NRAY - BAS & oy e =2
A=Y A3 98,020 45,820 52,200
201 Let2dl 41,700 39,600 2,100
01 AR 22l 41,700 39,600 2,100
Ogel=gHl 34,700
—A=50t EEXAF Y ZAHD 30,000& * 120 3,600
—MESUSEET AL & ZAH 30,000
AE 521 1000m* O] et 180,000& = 85 15,300
AFZ S 21 1000m* O] &~3000m O] 2F 330,000& = 202 6,600
- AFE 52l 3000m* O] &H~5000m° O] 2F 420,000& * 54 2,100
AFE S0l 5000m" 0 & 600,000& = 10A 6,000
—2A=2UE Hel AREE 300,000& * 23| 600
—Ad=EAE 2L 100,000& = 53 500
Oo2g=¢ 7,000
—H=AR-s =¥ 70,0002 * 15 = 23| 2,100
—ELIAARRE = 70,0002 » 10¥ * 63l 4,200
—SSFEA M R RS 70,000& * 10 * 13 700
202 044l 4,320 5,760 A 1,440
01 =W 4,320 5,760 A 1,440
On=dZAae RFA 120,000& * 3H = 12& 4,320
203 HRF&H| 1,000 460 540
03 AMF=XHLFEH| 1,000 460 540
OEHA=EECSE & FHEZME HRFA 250,000& * 43| 1,000
402 SI2HXHE01H 50,000 0 50,000
01 2 2EX 50,000 0 50,000




SN RIREAD
o X AE 22
ool AS B (

i
40
o
10

SN - H - SRA(EH) - MRAY - Hl

e
0%
o
=
x
2
2 (A
R
J2H
0l
N

Ozss=2c X 50,000,000 50,000

405 AHatH S 1,000 0 1,000

01 T =S FH SHI 1,000 0 1,000
g AR D 600,000& * 1CH 600
OxtzE sHEXI(UEIHOIE) 400,000& * 104 400

FAHEE e 170,000 102,000 68,000

38,500
131,500

UL

SEFHEE HH 170,000 102,000 68,000

38,500
131,500

EUNCH

Bl & &bl 120,000 102,000 18,000

13,500
106,500

Mk

o
N

[
:

402 NSV FS] 120,000 100,000 20,000
13,500

106,500

Ml

01

(m}
r
P}
i
H
i

120,000 100,000 20,000
45,000
3,000,000& * 10= 30,000
9,000
21,000
—JIEt XIS 1,500,000& * 10s 15,000
4,500
10,500
5,000,000& * 15& 75,000

r

O
=

ny A

&

]

o ¥
Im
al
0t

M 1

Ml

O
<
it}
1
x
]
o
o

H
ol
I
oy
Ha
>
&
=}
[m
ry
i
Mo
!
0T
=
o

50,000 0 50,000
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2l S At
F=HEE HA
SEFHEE WA

[
0
P
10

SN EHE - S(BH) - MM - BLS sl e RS2
& 25,000
= 25,000
402 QI2HXHE01M 50,000 0 50,000
L= 25,000
i 25,000
01 It E2EXL 50,000 0 50,000
Ok==2g 2 =d0E X 5,000,000& = 10= 50,000
& 25,000
= 25,000
YA (S AIDL) 51,880 53,540 A 1,660
olFA2 A (RIS ALD) 5,400 5,400 0
olARAY| (&S AD) 5,400 5,400
203 HRF&Hl 4,200 4,200 0
04 BEASSEHFFEHI 4,200 4,200 0
O 30¢!0lat 350,000& =+ 12& 4,200
204 X R=HAH 1,200 1,200 0
01 Mg PP A| 1,200 1,200 0
O HAZYR=HFH| 100,000 * 1H = 12& 1,200
Jl2ZHI (YA S A 46,480 48,140 21,660
Jl2ZHl (el S A 46,480 48,140 21,660
201 B3| 29,680 30,740 21,060
01 AtR 22l 29,680 30,740 A 1,060
Oget=gH| 11,200,000& 11,200
o=l 5,0008 = 28% 11 » 128 18,480
202 (4Hl 16,800 17,400 2600
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